TASK/TX V4.56 [09/09/28]
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4 Boundary Conditions

num. | name | variable | center edge

1 LQm1 1) N 0

2 | LQm2 | rAd 0 25, By
3 |LQm3 | Ay N | —2bByy,
4 LQm4 Ay X

5 LQmb5 rAy X X

6 LQel Ne X x (N)
7 LQe2 | rneler 0 0(x)
8 LQe3 | rneueg 0 0

9 LQe4 Neleg N 0
10 LQeb nele N N
11 LQil ni X x (N)
12 LQi2 TNiUip 0 0(x)
13 LQi3 TNUig 0 0
14 LQi4 Nilig N 0
15 LQi5 niT} N N
16 | LQbl np x (N) X (N)
17 | LQb3 | rnpupg | x(0) x(0)
18 | LQb4 | npube x(0) x(0)
19 LQnl no1 N 2bSgas
20 LQn2 np2 N 0
20 LQn3 703 N 0
21 LQrl ny N N

)

0: Dirichlet condition (u =0

N: Neumann condition (v = 0)

value: Neumann condition (u' = value)

x: no condition




